
SAP ABAP table RHCD_TAB {Cost Distribution}

RHCD_TAB

BUKRS [CHAR (4)]

GSBER [CHAR (4)]

KOKRS [CHAR (4)]

DART [CHAR (2)]

UDART [CHAR (2)]

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)] RHCD_TAB-BUKRS = T001-BUKRS 0..N

1

T5D7C

MANDT [CLNT (3)]

DAKAT [CHAR (2)]

DART [CHAR (2)]

ENDDA [DATS (8)]
 RHCD_TAB-DART = T5D7C-DART 0..N

0..N

T5D7E

MANDT [CLNT (3)]

DAKAT [CHAR (2)]

DART [CHAR (2)]

UDART [CHAR (2)]

ENDDA [DATS (8)]

 RHCD_TAB-UDART = T5D7E-UDART 
0..N

0..N

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 RHCD_TAB-GSBER = TGSB-GSBER 

0..N

0..N

 RHCD_TAB-GSBER = TGSB-MANDT 

0..N

0..N

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 RHCD_TAB-KOKRS = TKA01-KOKRS 

0..N

1


